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TABELA WJAZDOW
UL. KAZIMIERZA WIELKIEGO

0 0
Pty
h Vo
s A fh L/P m m m?2 [ESEEE ) - -
1 | km0+01530 | kruszywo | L 3,50 3,90 1490 | 7,30 1:1 1:1
2 km 0+037,45 kruszywo P 4,00 5,00 21,50 11,60 1215 1:1,5
3 | km0+059,15 |  kruszywo P 3,50 5,50 20,68 9,60 1:1,5 1:1,5
4 km 0+071,80 kruszywo L 4,00 3,10 13,60 6,20 1:1 1:1
5 km 0+074,76 kruszywo P 3,50 5,50 20,75 12,10 1:1,5 1:1,5
6 km 0+090,22 kruszywo L 5,00 3,00 16,57 7,00 1:1 1:1
7 | km0+097,65 | kruszywo L 4,10 3,11 13,98 6,30 1:1 1:1
8 km 0+110,77 kruszywo } 3,00 4,10 13,58 7,20 1:1 131
9 km 0+113,75 kruszywo P 3,50 4,30 16,77 9,60 1215 1:1,5
10 | km 0+124,35 kruszywo P 3,50 3,50 13,88 8,10 1:1:8 1:045
11 km 0+125,53 kruszywo 1 3,50 5,00 18,93 9,50 1:1 | 1
12 | km 0+159,29 kruszywo L 3,50 5,00 19,20 11,10 1:1,5 1:1,5
13 | km0+179,13 kruszywo L 3,50 5,00 18,93 11,10 ds1.5 1:1.5
14 | km 0+191,02 kruszywo L 4,80 4,90 25,01 12,20 1:1,5 1:1,5
15 | km 0+199,97 kruszywo P 4,00 4,00 16,50 6,00 1:1 1:1
16 | km 04205,25 kruszywo P 5,00 3,90 20,40 6,85 1:1 1:1
17 | km 0+239,53 kruszywo P 4,80 4,20 21,73 9,25 1:1 1
18 | km 0+241,16 kruszywo L 4,00 4,90 21,18 11,40 1:1,5 | B
19 | km0+250,49 | kruszywo P 4,00 4,20 17,80 8,40 1:1,5 1:1,5
20 | km 0+268,23 kruszywo | i 4,00 4,80 20,70 11,20 131535 1:1,5
21 | km 0+272,23 kruszywo P 4,00 4,00 17,50 9,60 1:1,5 1:1,5
22 | km 0+318,86 kruszywo L 3,20 5,40 18,42 11,80 1:1 1:1
23 | km 0+324,65 kruszywo P 3,50 3,60 14,23 " 8,50 1:1,5 1:1,5
24 | km 0+328,58 kruszywo L 3,00 5,00 16,00 8,30 1:1 131
26 | km 0+360,00 kruszywo L 3,20 4,40 14,67 4,60 1:1 1:1
27 | km0+363,87 |  kruszywo 5 430 4,30 19,18 5,70 1:1 1:1




28 | 'km 0+399,71 kruszywo L 3,70 3,65 14,50 8,80 1:1 1:1
29 | km 0+419,80 kruszywo I 3,50 3,25 12,40 5,00 1:1 1:]
30 | km 0+422,20 kruszywo P 4,00 5,50 22,75 8,30 1:1,5 15125
31 | km 0+426,20 kruszywo P 4,00 5,50 22,75 8,30 1:155 1:1,5
32 | km 0+447,06 kruszywo L 3,00 3,30 10,90 7,40 1:1 1:1
33 | km 0+450,43 kruszywo P 5,00 5,30 27,62 9,30 1:1,5 1:1,5
34 | km 0+456,50 kruszywo P 5,50 4,80 27,17 8,90 1:1,5 11,5
35 | km 0+468,97 kruszywo L 3,50 4,30 16,05 9,90 1:1 1:1
36 | km 0+471,50 kruszywo P 3,50 4,20 16,17 9,50 13158 1:1,5
37 | km 0+479,92 kruszywo P 3,00 4,30 14,40 9,20 1:1;5 1:1,5
2 651,30 315,10




